FR25FEERRIL

FERAR—VHIRE SERAEER(FERA)

No.1
BIEREHBTEER
E=k1 e TR E & 2R
a Y No—|nv—| 2= | 7=~ No—|nv—| 2= | 7=~ =
R4 Fi4 ?£¥ ;% /%/q'_; /;_T/_; %% ;% /%,q,_j /;_7,_7 Bt
T K =T a8 2] o] of O 2 2
$HE | 2HA e T T bl B P
T 5 BY|%7| 2 BY|&7| 2 Sa
Z B 1] 1] 0 T 1 2
T I 1 ol o[ o
= 1] 1] o —] 1] 1L-1L—] 2 |
AV S AV.4 _
WiT R T & 4 4 2
sz 4 sz, Ik Ik _
e FHA FZR 72z &5t
AT 2F
B W 1 0 0
EFREW | 1 0 0
£ K 1 0 0
WNTIT 5 1 1 1 1 1
BT | 1 0 0
pEHHTE] 1 0 0
G AT T LT
A%S AVE _
i*ﬁ% $$Sl'% bk ok ,I%.E_I_
=¥ ZF
wEE 3
. IEERAIE | 1 4 4 4
ARN
WIBR Eeeonz] |
i 5 i 11 & |4 "1 ~|—| & |
L AN JARS i
A FREA %r; i%*; &5t
X B T & 0
L Ry | Ry Ry | Ry _
FR% FH A r—|r— Py P &5t
BF|&F BF | &7
= H T & 0] 1 1 1
L Y7k wlS -
R A FEA TI;—%L ,-;_%,L &5t
== wBeEFH 1 1 1




FR25FEESRBRISFFRAKR—VEINER SHRRAEERCERH)

No.2
EREHEEER
o e 2 20 TR EEN
& | 2Re |wss|Azes|?E a5t |22 &%t
Z & 7 280] 0 0
= H ¥ 1 40l 0 0
Hi 8 320l OL T -1 ~-1 0 L-T-1L L1 —|
2 PRL |ean| ApEa|YE ‘it |57 &t
R 20] 0 0
= = 1 40 o 0
IT% [(EF#w | 1 40 o 0
2 F 1 40 o0 0
Hi 4 60] O, 1T ~-1 -1 0 |- 1T-1-1-1T — |
'JJI'I|“ A 'JJI'II‘ h
& | #Re |wsa|Axes|7| T &t |77 7 CHI
EEdESa EEdESa
WEYEE | 1 40] o] © 0
BEREZ | 1 40 1] o 1 1 1
Exk [BREE[ 1 40 o] 1 1 1 1
BEE | 1 a0 2 2 4 2| 2 4
& 4 160] 3] 3[ 1T ~“T 6 3] 3 ~T1T~T 6
& | e |ses|Arcs|DE 88 a5 22|28 &t
E & | 6 240 3| 2 5 3| 2 5
X %t ®x B 1 40] o] o 0
i 7 280] 3] 2] 1T ~-T 5 [ 3] 2[ -1~ 5
B B
HRA BHE |2en| Arza| T a3t | 7 &5t
B+ B+
=EES =T a8 3 120] © 0
£ | $He e Area|i3 el &t
JLiE =T a8 3 120] © 0
2 $RE |reu| Azza|h CE &t
[ 1 40] 0 0
N =Y
T ":Jl:‘:\l:l g, X\ 1 40 0 0
IRIR T & [ 20[ 0 0
5 3 120l OL T -1 -1 0 |
LR LR
FE E2 FEE|Y . DPZ; -
£ 2RE (s AFREE|Y =10 PPZ +
BF BF
=X T B’ 2 80] o 0

[ SmEas [ % | ARAEEAH [ %




